—
Mathematics (Science Group)  Paper: I Ui« I &l P it€ (1%A124) 124 (/40 o
Time: 2:10 Hours Group: 11 .rsﬂfm ; 2 32.40: 5
Marks: 60 _ _ _ SUBJEGTIVE (i /,/; cy‘- 9.2 60 : A
Note: Section 1 nnﬁ!@ﬂsipgﬁ ,,sn}s?cgny THREE (3) questions (3) L Jﬁ - j,Fj‘!é’ t:"f-af'.d}” i ad
from Section I, However question No, NINE (9) is compulsory - B (0) 1A it B St
Section] Jil
2- Write short answers to any SIX questions: (2x8=12) 2 e lamr @) g el -2
- Perform the Indicated operations and simpiify. ) e e ey F ¥ P 328 wde i
I3 2+(2 1 0)-f 3 2) i3 2)+(2 1 o}t 3 2)
I Use law of exponents to simplify (2x°y W-8xy?) 2%y )-8x3vY) & Ao Sl ved i
ili- Find the value of xand vy, if x-iy-3=6-7{ X-iy-3=6-7i Aoz & p‘".:.uf Gyl i
iv- Find the value of x from the statement log; x =35 logax =5 2-‘_'1:'(1”::—& xe Laobr v
v-1f Jog2 =0.3010,log 3 = 0.4771,log 5 = 0.6990, then find S ol nf § log32 g
the value of log32 log2=10.3010,log3 =0.4771,l0g 5 = 0.6990
vi- fa+b=10 and a—b =6, then find the value of \..«7 J (a2+b3} yrma—h=6 o a+b=1i0 A i
(@ + hz) \ L e
vii- Simplify L»ﬁ + J[ f; ( 2 +-,———}[ g ] £ i
viii- Factorize 3x% -75y* I —75y? Z$F v
ix- Use remantfamma&‘dm ta l‘mﬂhe remainder when 8x° +ax’ -3x+2 ﬁ*t’é p["" & :.QJ S i
8x" +4x* - 3x + 2 Is divided by (x—3) _.1_1;,»?? (x+3)
3- Write short answers to any SIX queo{ions (2x8B=12) .&';fﬂwﬁﬁaw(su&df -3
i= Find the L.G.M of the expression 39’ v 3 and S?'].'vcs 6 Q'Ixs 657 oo 39)(’3.'32 '.r'_i)(!j”{,ﬁ._i‘.-hbj 4
ii- Solve for 'x' |8x - 3|='dx+45. IBx—3|=/dx+3j Ef_';lﬁ;l".:a_-d" -ii
iii- Solve the inequality —4<3x+5<8 —-4<3IK+5<8 :-;i‘r)"_‘p_rd‘" Kot il
- Draw the graph of the equation y = 4x y=4x z & S il v
v- Find the values of 'm'and 'c' by expressing in uf"‘z Fiou'm sl o f y=mx+e
the formof ¥y=mx+¢ | 2x—-y=-3 2x-y=-3 &
vi- Find the distance between the following pairs of points .‘:}‘:rJ-"J-vG el iz £ b8 Jigos
A(B.-1D,B3.-4 A3,-11),B3E,-4)
vii- Find the mid point of the line segment joining pair of poinls i JLA-J Cipal e 2 b usr L b8 Fites Vil
Al4,-11),B(4,-4) Af4,-11),B(4,-4) gr,ﬁv‘
viii- What is meant by 8. A A = S AA ‘e sdrfa S AAZSAA i
ix- Define quadrilateral. .é 7 ._,(J;fg ~ix
4- Write short answers to any SIX questions: (2x6=12) -6 (f.&].t?/sfalibf(slqc.df -4
- How are thé-dight Bisaddrs % de sides of = triangle? v e Sesrdiudas s
ii- Can the following set of the lengths be the lengths of the ot Fran W Fiae o i
sides of atriangle? 3cm.dcm, Sem 3cm, dem, Sem
iil- What are similar triangles? rr de Vbl i
iv- Find the unknown valug of "x'in figure. -q{r‘:’”:‘f u/ R el Fowv
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v- Whnat is Pythagoras theorem?

v Wttt o agl?

vii- Find the area.
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8cm

vili- Define Circumcentre.

Ix- Construct a AXYZ in which
mXY =35.5cm, mZX =4.5cm , m/7 =90°

'x'.:"_ f.ﬁ.;:‘.ay'.l’;‘ -V
..f.‘., Ulbla':)' Kk _vi

11171
vt A ‘-n“ )

SE g il
&
3
] 8cm
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Lk AXYZ i

mXY = 5.5cm x mZX =4.5cm , mZZ =90°

Section 1T % -
(L{’/‘.j-ﬂ Z:.I?.',rul ,-;2 8 égllr‘g)

{a) Solve oy using Grammer's le ix-y=-4
4x - 5)’ =06

’(215} (25))/
I'b\ »mfﬁa | ,u(

() Stmph’r

[0.7214%20.37

fa) Use logarithm lo find value of \' a3

(o) Iff+m+n=7 and I?+m?+n?=81, then find value of
Im+mn+fn

@ It x—1) is a factor of x —kx” +11x -6, then find
the valus of k.

(b} Use division method to find the square root of

2 2
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(a) Solve the equation
2x 2 5 -5
= —— , XE—
2x+5 3 4x+10 2
(b} Construct AABC. Draw the bisectors of its angles
mAB =4.2cm, mBC =6cm and mCA = 5.2¢cm

Prove that- %.py,pgnt ﬁﬁsuqmﬁn a:'gle. equidistant from its
arms, is on the bisector of ft "

OR
Prove that "Triangles on the same bases and of the same
(.e, equal) altitudes are equal in area."
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x—y=-4 ﬁ—u}’c- Ya JU:‘E‘-’:A}' (&) .5
4x -5y =6

lz165 25"

A A (5
Re Ve mmuﬁ -
Mfﬂl%%"m Vo pored e an S A0 () 8

P B2em2en2=81 al emen=7 /1 ()

5 o d § memnedn

LAz¥ xF ke +lix—6 B (x=DALD 7
.’df_{‘:"“.—.-fg.(klf..

e 3P A5 (L)
2 8
AT B, AT TS N
¥ ¥ S

Eff(s‘" wr Feahle (L) 8
2x 2 5 -5
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25+5 3 Ax+10 2
& umt L Ui & sl ek AABC ()

mCA = 5.2em mBC = Gem « mAB =4.2cm
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